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( Contemporary Western Philosophy )

Full Marks : 60
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The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following as directed : 1x7=7

Rfrpi weTe famcaa Ted for -

(a) ““The world is the totality of facts, not of
things.”” Who is associated with the
statement?

Ly BAR TR, I8 w28 17 @3 BfSE
F51% Giow wrfaFes (@ ?
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(2)

(b) Among the following philosophers, who is
the author of the book, Principia Ethica?

fare wMeseead f$e9% Principia Ethica
AN 2R o @ 2

(i) Gilbert Ryle
[RigallRIEE]

(ii) G.E.Moore
&2 W

(iii) Wittgenstein

L5

(iv) A.J. Ayer
9. (&, I

( Choose the correct alternative )

(o Reseor af e )

(c) According to Russell, a fact is either true or
false. Is it true?

TR JCS, <51 O T 3TS) AT ST | G301
TSI ?

( Continued )

(d)

(e)

(1)
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(3)

Who among the following was a member of
both Cambridge and Oxford philosopher?

e wieRe fooe @med  wfAe
@IS SF SHETS oY T@Cd ST SR 2

(i) G.E.Moore
f& 2w

(ii) Bertrand Russell

3Ghe JICHA

(iii) Ludwig Wittgenstein

LR TR ESHED

( Choose the correct alternative )

(o Resco Tf Sfersar )

Who is the father of Logical positivism?
SR erHIME TS (Pl ?

Ryle refutes the dualism of
Plato/Descartes/Spinoza.

( Choose the correct alternative )
Sievc Bl o placal ) dns QI IR I A T
Ffafee | ( %% s A Sfere )
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(g) Analytic philosophers generally believed 3. Answer any three of the following questions :
that philosophical problems arise out of our : 3e3=13
failure to use ___ properly. e Al 2T R e fefivm B o

( Fill in the gap )

Roggerm wrfAeeE TaRTce e sfRks
@ wfe SR Tee | afen wify

(a) Explain briefly Wittgenstein’s view on
private language.

3 3 9N IR e 2€ Ffesre oE1 T TR ¥© %, 5
( AR I 7R ) 0
2. Answer briefly the following questions : 2x4=8 (b) Discuss briefly the kinds of facts recognized
weTo fr] 2o 5 Teq 3441 by Russell in his logical atomism.

bR I AR B o 9,

(a) Write two differences between atomic and

molecular proposition. BYCT AL |
R S S o AP (c) What is ‘official doctrine’ according to
A1 fer4 | Ryle? Discuss.
(b) What does Ryle mean by ‘Cartesian model’? e o e SE ! 2 SCE 4 |

e SrchiaE Teee 4T [ q@iRE 2

(d) State some examples put forward by

(c) What is atomic fact according to Russell? Wittgenstein to explain the concept of
qCoE e A 9% 6 2 language game.

(d) What do you mean by ‘Family SER (4E YRACOT R P[RSR
Resemblance’? TRhcsReiRe SRl fogwm Tre TEy
N st e & 3 2 Al
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(¢) How did Moore distinguish between (d) What is Cartesian dualism? Give a critical
sensation and the object of sensation? account of Ryle’s refutation of Cartesian
I W RS T TGS A QAT dualism.

1237 R Fffee 2 PRI (aedm e QIE ? XN FIORA

(f) Is philosophy linguistic analysis? Discuss. taedm  4ed RI@ @ RogEe g

SIRCGIT |
T SR R 20 7 SCEoe 4 | SAITCS

(e) “‘A proposition is a picture of reality.”
Explain after Wittgenstein.
“qB o 2% e[ 5F 1”7 TIGeeRABR T

EIRISSIN

4. Answer any three of the following questions :
10x3=30
wer il eppiyeR i e foffior ©eq fera

(a) What do you mean by logical atomism?
Explain and examine Russell’s view. (f)

O ARNEW Iferce & qa1 2 G2 RIS 00
SfeTs 747 S [{6[ F4 |

(b) Who are the principal exponents of analytic
movement? Bring out the salient features of * &k
the analytic trend in western philosophy.

Explain and examine the language game
theory of Wittgenstein.

SRR SRR (3 TSRO 0 F
ucicasall

Romr™ Swmeme d99 @o @F &2
APBTE) ¥feTe g q_E (AMRERR B |

(c) How does Moore attack the proposition
‘Esse est percipi’? Does he thereby refute
idealism?

TA @A g AOrwed’ I6AC0l ST
ECR 2 [ {1 (98 SIAM 187 FIRCETH ?
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